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2. Please translate the following brief excerpts, and reply to the questions below (25%):

(A)

Dementia is among the most common burden of disability and dependency among the ever-growing size of
the aging population in many countries. Approximately 10 million newly diagnosed cases of dementia are
reported annually worldwide, Currently, there are roughly 50 million peopie with dementia around the
globe. This disease is projected to become 82 million in 2030 and 152 million in 2050. Two-third of these
people with dementia reside in the developing countries. The total number of people with dementia is found
predominately in the elderly population. Dementia can interfere behaviors associated with daily living, and
can also affect their carers and families. There are many lifestyle-related risk factors related to dementia,
including physical inactivity, tobacco use, obesity, alcohol, diabetes mellitus and unbalanced diets. Among
them, social isolation, low educational attainment, cognitive inactivity, and mid-life depression are
potentially modifiable risk factors with origin rooted in their past experience and surroundings. The WHO
Assembly endorsed a global action plan not only to ‘lower the impact of dementia’ and ‘improve diagnosis,
treatment and care,” but also to ‘increase awareness of dementia,” “support dementia carers,” and ‘enhance
health information systems for dementia.” (Modified from the topic of dementia from the WHO website)

B)

According to the scenario described above: (You can answer in Chinese or FEnglish.)

(1) What are the possible consequences that can result from the increase in the dementia incidence in the
Taiwanese society?

(2) List out the preventive strategy(s) that can be used to effectively lower the impact due to the increase in
the dementia incidence in the Taiwanese society.
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FA4L RELARZHELAMERBHMELR
65-69 % 70-74 &, 75-79 # 80 # M E
P (REE PHMEEREE)  PHME (REE) PHRUEEGEER) pM
MR (mmHg) 1335 (182) 1347 (20.3) 1385 (22.8) 1407 (201) *

£ 3R (mmtg) 833 (11.9) 80.3 {1L1.5) 774  (12.7) 76.9 (13.1) *
N ME LSy 70.1 {10.3) 67.8 (9.9) 69.7 (9.7) 69.3 (312.3)
HE (k) 60.8 (9.7) 58.7 (10.6) 57.6 {10.7) 545 (9.7} *
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